Page 27. Exercice 50. Un produit peut en cacher un autre...
a. Calcule le produit :

b. Effectue alors les calculs suivants :
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,
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,


2


=


 


b. Effectue alors les calculs suivants :


 


A


=


7


,


5


×


(


–


0


,


2


)


=


 


B


=


(


–


0


,


2


)


×


(


–


7


,


5


)


=


 


C


=


(


–


75


)


×


(


+


0


,


2


)


=


 


D


=


(


–


7


,


5


)


×


(


–


20


)


=


 




Page 27. Exercice 50. Un produit peut en cacher un  autre...   a. Calcule le produit   :   7 , 5 × 0 , 2 =   b. Effectue alors les calculs suivants :   A = 7 , 5 × ( – 0 , 2 ) =   B = ( – 0 , 2 ) × ( – 7 , 5 ) =   C = ( – 75 ) × ( + 0 , 2 ) =   D = ( – 7 , 5 ) × ( – 20 ) =  

